MBI SOFIRHR
SHEZD 111 BFE S B E=NRS S"HER AL

2i8E (& 3254 0 5-3-1-0)

)1 & a,b, c,deR’Eﬁ%HjIEﬁEE'ﬂi%IEf’
(1)|2022 116 | _ | 2022 | (2)| 116a 116D
2022 116 2022 116c 116d

) —4b 8bd —12ca
6b 9a 18ca — 12bd

=1162><|?

ole al=17 &l

3a +100b b
®)| 3c+100d d

. BRIA~ B~ C~ PRIBRINE - SHRE TS CA ~ CB MASFIT, §EIE -
(1) PC = (cos?2022)-PA + (sin?2022)-PB

=0

=0

(2) 10PA = —7PB + 17PC

(3) —3PA —10PB +7PC =0

@ BCA = (a,0,) T8 = (byb) B{0TT 1070w
(5)|CA||CB | =—CA-CB

. WEBFRT * A4BC - AB=5BC =6 AC =7 H BE K AC L§VSH 4B
BIPEER D - BB IERE0EE -
(1)AB -AC =19 (2)BF -BD =FA -AD
(3)FA #£ AE LEUESI8R ;AC  (4)BA X0 BC £ BF LMUIESIR/EER BE
(5)DB -BF = —BD - BD

. B—{BIE7BR ABCDEF » (GBI - HBHEAERIBRE -

(1)AC -DB (2) (AB + 4D )-EC (3)(§ﬁ+ﬁ)-ﬁ

(4)DC -AB  (5)(AB +AC )+ (AD +AE )
- g _— +b
L B ar, a5, by, by 01,0 REH BRSBTS { at by = o, BURUE » BURUIFREGVEIE -
a;x + by =

W) Be=3 =7 05E8 AR {51

e
_ 1, 6B
ax+by=1
ax + by =2 L4
3a;x +2b,y =0
3a,x + 2b,y =0

(2 B =0"c, =0 BFBIIHEINRT (x,¥) = (0,0) SVEEME ?'\Ufjiiﬁ{

R Ba=0"c=0RFKHILERKRT (x,y)=(0,0) SVEEME - A { ma
(x,y)=(0,0) BASMGORE
(4) BMILOENERE - BIMER Li: ax + by = ¢; * Ly ayx + by = ¢, [RBRE

(5) ERMER Liza;x+by=c1’ Lyra; + by =c, BEEEFT - BB A2V ERR

T ERE (BR5D  »155D)
1. &*ﬁiﬁﬁtﬁﬁi%ﬁB(Z,l)’C(&M’%ﬁ%—%ﬁfliﬁ&f=(—2,3)’EUISC—A—ZC—B=




PONEEDE]  SOFRiREE

WORBEMML;: —2x+y+5=0FMLyx+y—-3=089AEZ— " RAlcosd =

BR=aF=8KR281KAB=3 BC=5AC=7 8 (AB +2CA )-AB =

B 0 AVIETELNERE - EFELBMEE 04 = (—4,3) 0B =(21) > S 0P =x04 +y0B » Hp x-
vy REY - OETFIRIE :

(1) Bx ymE-3<x<-1'1<y<4 BIRBHEHOFE PEFREREINERES
2) BRIKABH - 5 0Q =204 +k0B - QlE kA B |0Q | BRIMVE -

BRMERR L:(a—5x—y+1=0"Ly8x+(@+1y-2=0-
Ea=ME MEGERT (REXE); % a=mi MEFSES KEH (M, m)=

Ly ABHERE4x—3y =168 x+3)%+ (y+ 1% + 3 Is/\as idiSE )
(x,y)= °




PONEEDE]  SOFRiREE

2 2 —
7. BNLETEL ORERA(6,8) BPROYEE | " 804 0P . ER

oy ez ( 2784x — 936y = 2 R

9. B—ERITIER ABCD » HP AB =4+ AD = 6 - @E RNFIRIHE :
(1) 5% GAABCDHIEN * & AG = xAB + yBD » Bl (x.y)= o
(2) % E7EAB FBWEAE: EB=4:3 B A f0AFD4RER DE 5558 P B « 58 AP = xAB +yAD + R (x.y)=

o

0. BRlal=2b|=6B|a+2b|=6V2-Su T b HALHEAEDBAR —5a 2b » R |u] =

°

11 MEPEEHE=FA0,4)B(3,0)C(5,4)  EHIRED C BHEF - T CB HAHEER 4B LK) B Bi%
BRHZE DS Hp BD = 2CB - EREBIEREAFASZNRAA © B DBYESR




PONEEDE]  SOFRiREE

SHEZD 111 BFE S B E=NRS S"HER AL

(D)) (DG) @C)#)S)

28; (1,-4)

10.

3vV5




